
Nitche method for computer homogenization boundary
conditions

 Lukasz Kaczmarczyk 1

School of Engineering, University of Glasgow, Rankine Building, Glasgow
G12 8LT, U.K.

Abstract

...
Keywords Nitche method, Multiscale, Computational homogenization.

1 Constrains

1
R = CT(CCT)−1 (1)

2
P = RC (2)

3
Q = I − P (3)

4
P = PP (4)

2 Problem formulation

7

t(u) = −1

γ
R(Cu− g − γCt(u)) (5)

8

a(u,v)−
∫

Γ

tT(u)PvdΓ = 0 (6)

9
v = R(Cv − φγCt(v)) + φγPt(v) +Qv (7)
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10

a(u,v)

−
∫

Γ

tT(u)φγPt(v)dΓ

−
∫

Γ

tT(u)R(Cv − φγCt(v))dΓ

= 0

(8)

11

a(u,v)

−
∫

Γ

tT(u)φγPt(v)dΓ

+

∫
Γ

1

γ
(R(Cu− g − γCt(u)))TR(Cv − φγCt(v))dΓ

= 0

(9)

12

a(u,v)

−
∫

Γ

φγtT(u)Pt(v)dΓ

+

∫
Γ

1

γ
(R(Cu− g − γCt(u)))TR(Cv − φγCt(v))dΓ

= 0

(10)

13

a(u,v)

−
∫

Γ

φγtT(u)Pt(v)dΓ

+

∫
Γ

1

γ
(u− γt(u))TP(v − φγt(v))dΓ

−
∫

Γ

1

γ
gTRT(v − φγt(v))dΓ

= 0

(11)
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14

a(u,v)

−
∫

Γ

φγtT(u)Pt(v)dΓ

+

∫
Γ

1

γ
uTPv − φuTPt(v)− tT(u)Pv + φγtT(u)Pt(v)dΓ

−
∫

Γ

1

γ
gTRT(v − φγt(v))dΓ

= 0

(12)

15

a(u,v)

−
∫

Γ

tT(u)PvdΓ

−
∫

Γ

φγtT(u)Pt(v)dΓ

+

∫
Γ

1

γ
uTPv − φuTPt(v) + φγtT(u)Pt(v)dΓ

−
∫

Γ

1

γ
gTRT(v − φγt(v))dΓ

= 0

(13)

17

a(u,v)

−
∫

Γ

tT(u)PvdΓ

+

∫
Γ

1

γ
uTPv − φuTPt(v)dΓ

−
∫

Γ

1

γ
gTRT(v − φγt(v))dΓ

= 0

(14)
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18

a(u,v)

−
∫

Γ

tT(u)PvdΓ

+

∫
Γ

1

γ
uTPv − φuTPt(v)dΓ

−
∫

Γ

1

γ
gTRTv − φgTRTγt(v))dΓ

= 0

(15)

19

a(u,v)−
∫

Γ

tT(u)PvdΓ +

∫
Γ

1

γ
uTPvdΓ−

∫
Γ

φuTPt(v)dΓ

−
∫

Γ

1

γ
gTRTvdΓ +

∫
Γ

φgTRTγt(v))dΓ

= 0

(16)

3 Periodic BC

C = [1,−1] (17)

R =
1

2

{
1
−1

}
(18)

P =
1

2

[
1 1
−1 1

]
(19)

20

a(u,v)−
∫

Γ

[tT
+(u) tT

−(u]

[
1 −1
−1 1

]{
v+

v−

}
dΓ

+

∫
Γ

1

γ
[uT

+ uT
−]

[
1 −1
−1 1

]{
v+

v−

}
dΓ

−
∫

Γ

φ[uT
+ uT

−]

[
1 −1
−1 1

]{
t+(v)
t−(v)

}
dΓ

−
∫

Γ

1

γ
gT[1 − 1]

{
v+

v−

}
dΓ

+

∫
Γ

φgT[1 − 1]

{
t+(v)
t−(v)

}
dΓ

= 0

(20)
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21

a(u,v)

−
∫

Γ+

(tT
+(u)− tT

−(u))v+dΓ−
∫

Γ−

(tT
−(u)− tT

+(u))v−dΓ

+

∫
Γ+

1

γ
(uT

+ − uT
−)v+dΓ +

∫
Γ−

1

γ
(uT

− − uT
+)v−dΓ

−
∫

Γ+

φ(uT
+ − uT

−)t+(v)dΓ−
∫

Γ−

φ(uT
− − uT

+)t−(v)dΓ

−
∫

Γ+

1

γ
gTv+dΓ +

∫
Γ−

1

γ
gTv−dΓ

+

∫
Γ+

φgTt+(v)dΓ−
∫

Γ−

φgTt−(v)dΓ

= 0

(21)

D =
1

2

 2x 0 0 y 0 z
0 2y 0 x z 0
0 0 2z z 0 x

 (22)

g = PDε = (D+ −D−)ε (23)

21

a(u,v)

−
∫

Γ+

(tT
+(u)− tT

−(u))v+dΓ−
∫

Γ−

(tT
−(u)− tT

+(u))v−dΓ

+

∫
Γ+

1

γ
(uT

+ − uT
−)v+dΓ +

∫
Γ−

1

γ
(uT

− − uT
+)v−dΓ

−
∫

Γ+

φ(uT
+ − uT

−)t+(v)dΓ−
∫

Γ−

φ(uT
− − uT

+)t−(v)dΓ

−εT

∫
Γ+

1

γ
DTv+dΓ− εT

∫
Γ−

1

γ
DTv−dΓ

+εT

∫
Γ+

φDTt+(v)dΓ + εT

∫
Γ−

φDTt−(v)dΓ

= 0

(24)
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22

a(u,v)

−
∫

Γ+

tT
+(v+ − v−)dΓ−

∫
Γ−

tT
−(v− − v+)dΓ

+

∫
Γ+

1

γ
(uT

+ − uT
−)v+dΓ +

∫
Γ−

1

γ
(uT

− − uT
+)v−dΓ

−
∫

Γ+

φ(uT
+ − uT

−)t+(v)dΓ−
∫

Γ−

φ(uT
− − uT

+)t−(v)dΓ

−εT

∫
Γ+

1

γ
DTv+dΓ− εT

∫
Γ−

1

γ
DTv−dΓ

+εT

∫
Γ+

φDTt+(v)dΓ + εT

∫
Γ−

φDTt−(v)dΓ

= 0

(25)

23

a(u,v)

−
∫

Γ+

tT
+(v+ − (1− ε)v−)dΓ−

∫
Γ−

tT
−(v− − (1− ε)v+)dΓ

+

∫
Γ+

1

γ
(uT

+ − (1− ε)uT
−)v+dΓ +

∫
Γ−

1

γ
(uT

− − (1− ε)uT
+)v−dΓ

−
∫

Γ+

φ(uT
+ − (1− ε)uT

−)t+(v)dΓ−
∫

Γ−

φ(uT
− − (1− ε)uT

+)t−(v)dΓ

−εT

∫
Γ+

1

γ
DTv+dΓ− εT

∫
Γ−

1

γ
DTv−dΓ

+εT

∫
Γ+

φDTt+(v)dΓ + εT

∫
Γ−

φDTt−(v)dΓ

= 0

(26)

g = (D+ − (1− ε)D−)ε (27)
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